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— UNIX
* sh, csh, ksh, tcsh, bash

— UNIX
* egrep, awk, sed, perl




Bash

%ls
aca aab aac aba aca ada abc bbb bcb

% echo a[abc]a
aca aba aca
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ba, abc, ..., ba..ba, ba...ab, ..., abc...abc

(p.37 2.10)

L, 2{10,1}
L, 2{011,1%
L,L, 7{10011,1011,11%

{1011 2{2,10,11,1010,1011,1110,1111,....}
{10,137 2{10,11,1010,1011,1110,1111,...}

(p. 37)
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(r+s) (r9 (r*)
R SRS R*

.., - c o=y

= (o %e ):<7/ {e }={e } =g *={g }*={e }

e * > >+

Vol - ((0(1%))+0) — 01%+0
VS o (1+(10)* - (1+10)*
¢ ((1(1(1%))+(0D)) — (111*+01)

o = (o +a)=0" {a}={a} = a={a*={¢ ,aaaaa, ..}
] = (e +a={e } {a={c .& = ((o*e )*+a)=(e +a)={e }
4 @p=a {b={ah) {g=lc .
= o;z{}{a }:{}7}’ (o faty=(Haby=0--"
= oa={}{a={}=0 = ((ab)te )={ab} {e }={e ,
. - e a=(e Ha={a ~ ?(ba}b)*)-{ab}*—{ -
~ ab= = & & ={e ,ab, }
= ab={a}{b}={ab} ababab, .. }
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(p. 38, 211)
J = 00={ 00}

= (0+1)*={0, 1}*
={¢ ,0,1,00 01, 10,11, ..}

: # (1+#10)*={1, 10}*

=(¢ , 1,10, 11, 110, 101, 1010, ... }

= (0+€ )(1+10)*={0, € }{1, 10}*

={0,¢ } {¢ , 1,10, 11, 110, 101, 1010, ...}
={e ,0, 1,01, 10, 010, 11, 011, 110, 0110, 101,
0101, 1010, 01010, ... }




(.38, 211)

¥ (0+1)*011={0, 1}*011

d ={¢,0,1,00,01 10,11, ..}{011}

={011, 0011, 1011, 00011, 01011, 10011, 11011,
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% ={¢,0,00,..}{¢ ,1,11, ...} {€ ,2,22, ...}
={¢ ,0, 1,01, 012, 00, 001, 0011, 0012, 00112,
001122, 000, 0001, 00011, 00012, 000111,
000112, 0001112, 00011122, 000111222, ...}
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